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1. 220 OIM(TOT S LDERK)
program sum;
{$APPTYPE GONSOLE}
uses SysUtils;
var a, b, c:integer;

begin

write (' Enter two integers:’);

readin(a,b); BH%Fa, bIcARN
¢ =a+b—
writeln( su

readln
end. A yE—UEHMERT

TARIEDNTCIZAND DT, ESWNSTEFEAS?
Literecy

LOEREGTHIT?

¢ EvrEIKSALRDERELGHERE D L1245,
s BDHBRIBTNIEESEL,

LA~ BEWh) — -128~127
2,31k (16Ewk) — —32,768 ~ 32,767
431~ (32Ewk) — —2,147,483,648 ~ 2,147,483,647
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3. T BEHEEH
ZHEE  var a, b, ¢! integer;
aVE1—SDHT integer DL LT
BH(..,-2,-1,0,1,2, . ) EEZTHB2EVLDFE
a b c

TOHEDELZLDEFREDRICANDIIENTED,
_o¥ ~ 2% _q
—-2147,483,648 2,147,483,647

LDEHEEETHET, LORD£5%3DD
FELNABENDEBSTELY,

4. AAXERAX

AN F—R—FDoDT—EEEHICAND,
KA BLOXDELZERIZANS,

a b c
Enter two integers:3 4 ‘ ‘ ‘ ‘ ‘ ‘
readin(a, b); ‘ 3 ‘ ‘ 4 ‘ ‘ ‘
¢ i=a+b; ‘ 3 ‘ ‘ 4 ‘ ‘ 4 ‘
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6. HDOL—H

var a, b, c:integer;

¢ =a/b, CITIS—MNTROELEE?

EDDcITEH HBDOH a/b DIEEEH

c:[ integer a/b: [ ]real
prd
FDORHES

round : EHEF/NMIAUTEERALTERICER
trunc  ERE/NMMRALUTEURTTERICEH

f5) ¢:=round(a/b) ; c:=round (3. 14);

Li . c:=trunc (3. 4xx/3) ;

oo %
=
var X, y: real;

. 0.000123 (=1.23x10-4)

1R B ER e s
.« —43200 (=-4.32x10%)
HEBORTOERORE —

REED & 1R DM THOHL. 8/ (R TRE,
¥ Delphi 6MY =27 )LIZkDE, realBDEHIE. EDOKT
TOHBEDHERT ENTED,
5.0x107%* ~1.70x10%®
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[ BERIEER) 5/3 = 1.6666 .
div & (BEATEBH 5div3=1

-3+axb/c

mod R U 5 mod 3 =2
+  F0
- =
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7. Effi X DPascal THRIR

pi |MHEE 3.1415926535...
sin |Hq> BElESo7Y

cos |aYAr sin60° (& sin(pi/3)
sqrt |TEAIR sart (x) =+vx

exp |FEE(EILe) [exp(x) =€

In |[x#UElEe) [In(x) = log, x

abs |#xtE abs (x) =¥
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2% x? X * X Ff=(Z sqr (x)
3% x° X ¥ X % X

| =" Jexp(y * In(x))
g | tanx sin(x) / cos(x)

1

8. HAX
write&writeln®ZELNME?
writeln =179 %,

1) writeln( AAA") ; AAA
writeln( BBB') ; BBB
|
write AT L7,
) write ( AAA') ; AAABBBE
write(' BBB');
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Level 8

c 2DMEHa. bIzxtL. a/bDEZFRHZTO
IS LEERE K.

B LOTOY5LDa/bDEEERFEH AL
TRTRTEIOTSLEERE &,

B LtoTnySLDa/bDIEE/NEE LI TG
AALTERRTZIOTSLEERE L,

A THRbp. 18DHEMBEIDBEREEEHETO
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2. e=+/a’+b?sin(c+d)

|ax +by +cz +d| —b++/b?—dac
=

4. x=
va®+b?+c? 2a

a
L y=px+q+——
X—r

3. h=

= prx+g+a/ (x-r)
= sqrt (sar (a)+sar (b)) xsin (c+d)

(-b+sart (sar (b) —4*a*c)) / (2xa)

y
e
h := abs (ax+b*y+ckz+d) /sqrt (sqr (a) +sqr (b) +sar (c))
x1 =

x2 := (-b-sqrt (sqr (b)—4*axc) )/ (2xa)

Z2xHOFH A
B

i:=7, writeln(i, i*i); [7][41[9]
EFEOHTHRITTERE
OOoOrOoOOée]
5HraEED 5D
Ol&. ZZEHTOEK

writeln(i:5, i*i:5);

wROHE

E=EH

x:=sqrt (2)*100;

writeln(x); 1. 41421356E+2

R EER & 3B 8 ER

writeln(x:8:3); 141.421
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